
Mixture of priors
-

Summarily Given fleet tgfajtphfa) [mixed prior]
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We learned something :
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Mixture of Discrete & continuous
-
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Is it consistent ? HM)=p8(Huo) -14- p) I ÷ ÷
-

Plato) = flu)dµ=%p8(a-a) da PI dy
= p t o =p ✓

Examplei Coin with p =p
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What is posterior due to glee) ? Same ! [Nothing can change this prior]
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Lindley 's Paradox : ( say that Mo is most likely no matter what ! )
-
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Another approach : Handle prob . & density in Bayes .

f-(Eterno) pottedphenol a) =-
f-filmedPfund tf(a-Intro) Platted

42
Now : fcalm# = jffnfu)#du

- Yz

PfkMola) = pffn-lu.no#Pffn-Ir--Molt4-PI!Ifu-he)zdu
> Affiliate
pffn-fu.to) t

I = Motor ⇒ Pfe=p. la) z PE.fe-%FE7.ee- E +
→
I



Interpretationofparadoxx
is observed with variance TL

u has distribution with variance 22
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